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- base nogartaka (HacTaBak)

YB0O3 nogaTaka W3 eKCTepHMX [OOoKyYMeHaTa - OnuMOHaIHu
aprymeHTun cyHkumje read.table():

> , quote="\""'", dec=".", row.names, col.names,
+ as.is=F, na.strings="NA", colClasses=NA, nrows=-1, skip=0,

+ check.names=T, fill=!blank.lines.skip, strip.white=F,

+ blank.Tines.skip=T, comment.char="#")

read.table(file, header=F, sep=

file the name of the file (within "" or a variable of mode character),
possibly with its path (the symbol Y is not allowed and must be
replaced by /, even under Windows), or a remote access to a file of
type URL (http://...)

header a logical (FALSE or TRUE) indicating if the file contains the names of
the variables on its first line

sep the field separator used in the file, for instance sep=""t" if it is a
tabulation

quote the characters used to cite the vanables of mode character

dec the character used for the decimal point

row.names a vector with the names of the lines which can be either a vector of

mode character, or the number (or the name) of a variable of the
file (by default: 1,2, 3, ...)

col.names a vector with the names of the vanables (by default: Vi, V2, V3,
.

as.is controls the conversion of character variables as factors (if FALSE)
or keeps them as characters (TRUE); as.is can be a logical, numeric
or character vector specifying the variables to be kept as character

na.strings the value given to missing data (converted as NA)

colClasses a vector of mode character giving the classes to attribute to the
columns

nrows the maximum number of lines to read (negative values are ignored)

skip the number of lines to be skipped before reading the data

check.names if TRUE, checks that the variable names are valid for R

£il1l if TRUE and all lines do not have the same number of variables,

“blanks" are added

strip.white (conditional to sep) if TRUE, deletes extra spaces before and after
the character variables

blank.lines.skip | if TRUE, ignores “blank” lines

comment . char a character defining comments in the data file, the rest of the
line after this character is ignored (to disable this argument, use
comment.char = "")




BapujaHte dyHkumje read.table() cy, Takohe, Beoma
KOpUCHE jep umajy pasnunymnte default BpegHocTw.

read.csv(file, header=T, sep=",", quote="\"", dec=".", fill=T, comment.char="", ...)
read.csv2(file, header=T, sep=";", quote="\"", dec=",", fill=T, comment.char="", ...)
read.delim(file, header=T, sep="\t", quote="\"", dec=".", fill=T, comment.char="", ...)
read.delim2(file, header=T, sep="\t", quote="\"", dec=",", fill=T, comment.char="", ...)
Tibrary("gdata", 1lib.loc="C:/Users/Lenchy/Documents/R/win-1ibrary/3.0")

read.xIs(x1ls, sheet=1, method=c("csv","tsv","tab"), perl="perl")

VVVVYVYV

AnTtepHaTtuBa dyHKuuju read. table (), Ha nsBectaH HauuH,
jecte n dyHkumnja scan(). Pasnuka nsmeny wux je y tome
WTO ce kopuwhewem dyHkunje scan() nogaum “nakyjy” y
BekTop/nncty. OBa pyHKUMja je onekcmnburnHmnja n pagm opxe
(LUTO je BeOMa 3Ha4ajHO Ko Benukux basa). Kog marwunx basa
(ca ucnog MUIMMOH jeauMHUUAa nogartaka) TewKko ce yodaBa
npenHoCT Kopuwhera oBe pyHKUM|e.

> my.data4 <- scan("C:/Users/Lenchy/Desktop/posao_fax/TU/VEZBE_1314/CAS2/ISIT.txt",
+ dec=",", what=1ist(0,0,0,0,0))

Read 789 records

> str(my.data4)

List of 5

: num [1:789] 517 582 547 614 1068 ...

: num [1:789] 28.7 27.9 23.4 18.3 12.4 ...

tnum [1:789] 1 111111111...

: num [1:789] 50.2 50.2 50.2 50.2 50.2 ...

: num [1:789] -14.5 -14.5 -14.5 -14.5 -14.5 ...

AAAAA



» MmnnnumtHe netrbe (implicit loops)

[MocToju damunuja dyHKkuuja Tuna ‘apply’, 4mnjom ce
ynotpebom mnsberasa kopuwhere rneTrbu.

> cm <- c(35, 14, 11, 1, 4, 11, 3, O, 12, 9, 38, 4, 2, 5, 12, 2)
> dim(cm) <- rep(4,2)

> (rsum <- apply(cm, 1, sum))

[1] 53 39 64 7

> (cstd <- apply(cm, 2, sd))

[1] 14.291606 4.654747 15.195942 4.716991

> (rcchar <- apply(cm, c(1,2), as.character))

[1] [,21 [,3] [,4]
[1’ ll 12" ll2ll
[2’] 11 ll9ll ll5ll
[3’] 11 ll3ll ll38ll "12"
[4’] ll IIOII ll4ll ll2ll



> apply(airquality, 2, function(x) mean(x, na.rm=T))
Ozone Solar.R wind Temp Month
42.129310 185.931507 9.957516 77.882353 6.993464
> apply(airquality, 2, mean, na.rm=T)
Ozone Solar.R wind Temp Month
42.129310 185.931507 9.957516 77.882353 6.993464

> class(iris[,"Species"])

[1] "factor"

> tapply(as.vector(iris[,4]), iris$Species, mean)
setosa versicolor virginica
0.246 1.326 2.026

Day
15.803922

Day
15.803922




> aggregate(iris[,1:4], list(iris$Species), mean)

Group.l Sepal.Length Sepal.width Petal.Length Petal.width

1 setosa 5.006 3.428 1.462
2 versicolor 5.936 2.770 4.260
3 virginica 6.588 2.974 5.552

> (my.list <- as.list(iris[1:3, 1:3]))
$sepal.Length
[1] 5.1 4.9 4.7

$Sepal.width
[1] 3.5 3.0 3.2

$Petal.Length
[1] 1.4 1.4 1.3

0.246
1.326
2.026




> lapply(my.list, min)
$Sepal.Length
[1] 4.7

$sepal.width
[1] 3

$Petal.Length
[1] 1.3

> sapply(my.Tlist, min) #na izlazu se dobija numericki vektor umesto liste
Sepal.Length Sepal.width Petal.Length
4.7

. 3.0 1.3
> sapply(iris, 1is.factor)
Sepal.Length Sepal.width petal.Length Petal.width Species
FALSE FALSE FALSE FALSE TRUE
> sapply(iris, function(x) if(!is.factor(x)) return(0) else length(levels(x)))
Sepal. Lengtg Sepal. W1dt8 Petal. Lengtg Petal.width Species

3



> attach(iris)

> by(Petal.Length, Species,
Species: setosa

[1] 1.462

Species: versicolor
[1] 4.26

Species: virginica

[1] 5.552

> iris.m <- by(iris[, 1:4],
> class(iris.m)

[1] llbyll .

> str(iris.m)

List of 3

$ setosa : Named num [1:

..—- attr(*, "names")= chr

$ versicolor: Named num [1:

..— attr(*, "names")= chr

$ virginica : Named num [1:

..— attr(*, "names")= chr
- attr(*, "dim")= int 3
- attr(*, "dimnames")=List

Species, colMeans)

4]
[1
4]
[1
4]
[1

of

5.006 3.428 1.462 0.246

:4] "Sepal.

5.94 2.77
:4] "Sepal.
6.59 2.97
:4] "Sepal.
1

Length" "Sepal.width"
4.26 1.33
Length" "Sepal.width"
5.55 2.03
Length" "Sepal.width"

..$ Species: chr [1:3] "setosa" "versicolor" "virginica"
- attr(*, "call")= language by.data.frame(data = iris[, 1:4],
- attr(*, "class")= chr "by"

> iris.m$setosa

Sepal.Length Sepal.width Petal.Length

5.006 3.428

1.462

Petal.width

0.246

"Petal.Length" "Petal.width"
"Petal.Length" "Petal.width"

"Petal.Length" "Petal.width"

INDICES = Species, FUN = colMeans)

> iris.m$setosa[3] #isti izlaz daje i naredba iris.m$setosa["Petal.Length"]

Petal.Length
1.462



« Splitting on a factor

UecTta onepaumja 3a KOjoOM MNOCTOjU noTpeba npu pagy ca
baszama nogataka, jecte “pasbujarbe” b6ase Ha Buwe rpyna
nogaraka, geuHucaHux ogpeheHnm dpaktopom.

> iris.s <- split(iris, Species); str(iris.s)

List of 3
$ setosa : 'data.frame': 50 obs. of 5 variables:
..$ Sepal.Length: num [1:50] 5.1 4.9 4.7 4.6 55.4 4.6 5 4.4 4.9 ..
..$ Sepal.width : num [1:50] 3.5 3 3.2 3.1 3.6 3.9 3.4 3.4 2.9 3.1
..$ petal.Length: num [1:50] 1.4 1.4 1.3 1.51.4 1.7 1.4 1.5 1.41.5 ...
$ pPetal.width : num [1:50] 0.2 0.2 0.2 0.2 0.2 0.4 0.3 0.2 0.2 0.1 ...
..$ Species : Factor w/ 3 levels "setosa","versicolor",..: 1111111111
$ versicolor:'data.frame': 50 obs. of 5 variables:
..$ sepal.Length: num [1:50] 7 6.4 6.9 5.5 6.5 5.7 6.3 4.9 6.6 5.2 ...
..$ sepal.width : num [1:50] 3.2 3.2 3.1 2.3 2.8 2.8 3.3 2.4 2.9 2.7 .
..$ petal.Length: num [1:50] 4.7 4.5 4.9 4 4.6 4.5 4.7 3.3 4.6 3.9 ...
..$ Petal.width : num [1:50] 1.4 1.5 1.5 1.3 1.51.31.61 1.3 1.4 ...
..$ Species : Factor w/ 3 levels "setosa","versicolor",..: 2 2 2 2 2 2 2 2 22
$ virginica :'data.frame': 50 obs. of 5 variables:
..$ sepal.Length: num [1:50] 6.3 5.8 7.1 6.3 6.5 7.6 4.97.36.7 7.2 .
..$ sepal.width : num [1:50] 3.3 2.7 3 2.9 33 2.52.92.53.6 ...
..$ pPetal.Length: num [1:50] 6 5.1 5.9 5.6 5.8 6.6 4.5 6.3 5.8 6.1 ...
$ pPetal.width : num [1:50] 2.5 1.9 2.1 1.8 2.2 2.1 1.7 1.8 1.8 2.5 ...
..$ Species : Factor w/ 3 levels "setosa","versicolor",..: 3333333333

;.éummary(iris.s$setosa$Peta1.Length)
Min. 1st Qu. Median Mean 3rd Qu. Max.
1.000 1.400 1.500 1.462 1.575 1.900



dyHkumja unsplit() mma cynportaH edekatr og dYHKUMje
split(). OHa komMbuHyje rpyne nogataka W OO HUX
cactaBiba jedNHCTBEHY Oasy.
3anpaBo, Npu cTaTUCTUYKO] obpaan nogaTtaka, a 3aBMCHO oA
notpeba, yobunyajeH je nocrynak:

split — modify — unsplit.

> iris.s2 <- lapply(iris.s, transform, Petal.width=Petal.width*10)

> #jedinica merenja sirine latice je mm, umesto cm kako stoji u originalnoj bazi
> ir.s <- unsplit(iris.s2, Species)

> str(ir.s)

'data.frame': 150 obs. of 5 variables:

$ sepal.Length: num 5.1 4.9 4.7 4.6 5 5.4 4.65 4.4 4.9 ...

$ sepal.width : num 3.5 3 3.2 3.1 3.6 3.9 3.4 3.4 2.9 3.1 ...

$ petal.Length: num 1.4 1.4 1.3 1.5 1.4 1.7 1.4 1.51.4 1.5 .

$ petal.width : num 2222243 221...

$ Species : Factor w/ 3 levels "setosa","versicolor",..: 1111111111 ...




- “TlpeobnumkoBake” base (reshaping)

Y cuTyaumjama Kaga MnoCToje BULLECTpyKa Mepewa
3abenexeHa 3a UCTU ekcnepuMeHTanHu cybjekat (HNp. ycnen
npahewa cybjekTa TOKOM BpeMeHa wunu Kopuwhemna
Pa3NUUNTMX TEXHUKA), Nogaum mory 6uTmn opraHM3oBaHU Yy:

LLinpok popmaT noapasymeBa ga 3a cBakor cybjekta nocToju
Ta4yHO jeOHa (orcepBauUWOHA) BpPCTa, a CBaAKO Mepere je
CMELWTEHO Yy 3acebHy npomeHrbmBy. [yradak doopmat
nogpasymMmeBa fa nocToju no jegHa (oncepsaumoHa) BpcTa 3a
CBaKoO Mepewne (fakrne, nctom cybjekTy kopecnoHgupa Behu
6poj BpcTa).

Pasnununte yHKUUje 3axTeBajy pasnuynte dopmarte, na ce
ycnep Tora jaBrba notpeba 3a “npeobnukoBawem” b6asa.



> ESBZ[<— re?d.tab1e('http://www.ats.uc1a.edu/stat/r/modu1es/hsb2.csv', header=T,
> hsb2[1:10,

id female race ses schtyp prog read write math science socst
1 70 0 4 1 1 1 57 52 41 47 57
2 121 1 4 2 1 3 68 59 53 63 61
3 86 0 4 3 1 1 44 33 54 58 31
4 141 0 4 3 1 3 63 44 47 53 56
5 172 0 4 2 1 2 47 52 57 53 61
6 113 0 4 2 1 2 44 52 51 63 61
7 50 0 3 2 1 1 50 59 42 53 61
8 11 0 1 2 1 2 34 46 45 39 36
9 84 0 4 2 1 1 63 57 54 58 51
10 48 0 3 2 1 2 57 55 52 50 51
> #siroki u dugacki format
> 1 <- reshapeChsb2, varying = c("read", "write", "math", "science",
+ v.names = "score", timevar = "subj",
+ times = c("read", "write", "math", "science", "socst"),
+ new.row.names = 1:1000,
+ direction = "long")
> 1.sort <- T[order(1%$id),]
> l.sort[1:10,]

id female race ses schtyp prog subj score
99 1 1 1 1 1 3 read 34
299 1 1 1 1 1 3 write 44
499 1 1 1 1 1 3 math 40
699 1 1 1 1 1 3 science 39
899 1 1 1 1 1 3 socst 41
139 2 1 1 2 1 3 read 39
339 2 1 1 2 1 3 write 41
539 2 1 1 2 1 3 math 33
739 2 1 1 2 1 3 science 42
939 2 1 1 2 1 3 socst 41

"socst"),

"oy

Sep=, .



> #dugacak u siroki format
> w <- reshape(l.sort, timevar = "subj",
+ idvar = c("id", "female", "race", "ses", "schtyp", "prog"),
+ direction = "wide")
> w[1l:10,]

id female race ses schtyp prog score.read score.write score.math score.science score.socst
9 1 1 1 1 1 3 34 44 40 39 41
139 2 1 1 2 1 3 39 41 33 42 41
84 3 0 1 1 1 2 63 65 48 63 56
112 4 1 1 1 1 2 44 50 41 39 51
76 5 0 1 1 1 2 47 40 43 45 31
149 6 1 1 1 1 2 47 41 46 40 41
50 7 0 1 2 1 2 57 54 59 47 51
94 8 1 1 1 1 2 39 44 52 44 48
60 9 0 1 2 1 3 48 49 52 44 51
154 10 1 1 2 1 1 47 54 49 53 61

[Mpeypehewe Gase nogataka MOXe ce BpWUTU W romohy
dyHkuuje stack() mn woj nueBepsHe dyHkumje unstack ().
dyHkupnja stack () HapoBesyje BuLLE BEKTOpA U3 PasnUYNTUX
KofioHa Oa3se y jegaH BEKTOP ynopeaaH (pakTopy Koju ykasyje
ofakne notuye Koja oncepsauyja.

> gata <- data.frame(A=sample(1l:6, 2), B=sample(l:6, 2), C=sample(l:6, 2))
> data

1355

24314

> stack(data)
values ind

OOV WN R
Auouwuibhw
NOWW> >



> stack(data, select=c("A", "B")) #selektuje se koje kolone bi trebalo "sloziti"
values ind
1 3 A
2 4 A
3 5 B
4 3 B
> data(PlantGrowth); str(PlantGrowth)
'data.frame': 30 obs. of 2 variables:
$ weight: num 4.17 5.58 5.18 6.11 4.5 4.61 5.17 4.53 5.33 5.14 ...
$ group : Factor w/ 3 levels "ctrl","trt1",..: 11 11111111...
El?ag(ilantGrowth$weight[P1antGrowth$group=="ctr1"])
> pg <- unstack(PlantGrowth, weight ~ group); str(pg)
'data.frame': 10 obs. of 3 variables:

$ ctrl: num 4.17 5.58 5.18 6.11 4.5 4.61 5.17 4.53 5.33 5.14
$ trtl: num 4.81 4.17 4.41 3.59 5.87 3.83 6.03 4.89 4.32 4.69
$ trt2: num 6.31 5.12 5.54 5.5 5.37 5.29 4.92 6.15 5.8 5.26

> max(pg$ctrl)
[1] 6.11

Moxe ce npuMMeTuTU Oa je NpBU aprymeHT obe doyHKuuje
objekar (6a3za) kojy 6u Tpebano npeypeautn. pyrn aprymeHT
dyHkuuje unstack () je dopmyna:

values to unstack ~ groups to create.
MHaye, HOTauuja obrnuka y ~ X ce MHTepnpetupa Kao “y

onucaHo kopuwhewem X°. To je NpBU U OCHOBHU NPUMEP
doopmyne (model formula).



HanpeaHuje MOryhHoOCTM M CBeCTpaHWju NPUCTYN PECTPYKTypupawy W

30pYyXUBaky nogartaka npyxa naket reshape.

OHO WTO ce CYLWTWUHCKM AellaBa jecte aa kopucHuk “tonn” (melt())
nogaTke, Aa 6m ux, HaKoH Tora, “nanno” (cast()) y xxerbeHun kanyn, n, Npu

TOME, MOXe [ia BPLUN 30pYyKMUBaH€ MNnogartaka Ha XeJfbeHN Ha4nH.

With Aggregation

cast(md, id~variable, mean)

2 4 25

’ \

cast(md, time~variable, mean)

2 25 4.5

(b)

cast(md, id~time, mean)
Time1 Time2

2 3.5 3

(c)

J~_
a.

mydata
D Time X1 X2
1 1 5 6
1 2 3 5
2 1 6 1
2 2 2 4

Time

1

Variable

md <- melt(mydata, id=c("id", "time"))

Value

5

2
1
2
1
2
1
2

3
]
2
]
5
1
4

Reshaping a Dataset

Without Aggregation

ID

Time

1

X1

cast(md, id+time~variable)

X2

1
1
2
2

2
1
2

5
3
6
2

Bl=alo|lo

cast(md, id+variable~time)

ID VEUELIE Time1 Time 2
1 X1 5 3
1 X2 6 5
2 X1 6 2
2 X2 1 4

X1

Time1

5

X1

X2

cast(md, id~variable+time)

Time2 Time1

3

6

X2

Time2

5

6

2

1

4




- Taberne (table)

Koo ekcnepuMmeHTanHux nogataka 4ecTo ce MNojaBibyjy
KaTeropuyke rnpoMeHIbLMBE, KOje YKasyjy Ha HeKy noTnogeny
nogartaka y rpyne. lbux ou y R-y Tpebarno HasHauuTtu Kao
daktope (factors), npm 4yemy ce pasnukyjy nsa Tuna:
HeypeheHn (HOMUHanHM) n ypeheHn (opanHanHu).
McnpaBHOCT MHOrMx aHanusa y R-y 3aBUCU OO KOPEKTHOr
npeno3HaBawa dakrtopa, Hnp. dyHkumnja table() paawu
camMo ca KaTeropuyknm rnpoMeHIbUBUM.

daktopn ce peduHuwy dyHkumjom factor(), oaHOCHO
ordered(). Mory ce nobut n KOHBEP3NjoOM 3HAKOBHUX UMK
HYMEpPUYKNX BeKTopa dJyHKUMjamMa 3a MNpoOMeHy Tuna:
as.factor() wu as.ordered(). HwuBom nocrojeher
dakTopa n3aeajajy ce dyHkumjom levels().




> Deer <- read.table("C:/Users/Lenchy/Desktop/posao_fax/TU/VEZBE_1314/CAS2/Deer.txt", header=T.
> names (Deer)

[1] "Farm" "Month" "Year" "Sex" "clasl_4" "LcCT" "KFI" "Ecervi" "Tb"
> str(Deer)
'data.frame': 1182 obs. of 9 variables:
$ Farm : Factor w/ 27 levels "AL","AU","BA",..: 11 11111111...
$ Month : int 10 10 10 10 10 10 10 10 10 10 ...
$ Year :int 0000000000
$ Sex :int 1111111111 ...
$ clasl_4: int 4 43 4444444 ..,
$ LCT I num 191 180 192 196 204 190 196 200 197 208 ...
$ KFI : num 20.4 16.4 15.9 17.3 NA ...
$ Ecervi : num 00 2.383000 1.21 0 0.80 ...
$ 1O :int 0O0OOONAONAL1OO ..
> tab]e(Deer$Farm) #dobija se tabela sa brOJev1ma uzorkovanih zivotinja sa svake od farmi

AL AU BA BE CB CRC HB LCV LN MAN MB MO NC NV PA PN QM RF
15 37 98 19 93 16 35 2 34 76 41 278 32 35 11 45 75 34
RN RO SAL SAU SE TI TN VISO VY
25 44 1 3 26 21 31 15 40
> my.deer <- table(Deer$Sex, Deer$yvear) #dobija se tabela sa brojevima uzorkovanih zivotinja
odredjenog pola za svaku godinu

> colnames(my.deer) <- c("2000.", "2001.", "2002.", "2003.", "2004.", "2005.", "1999.")
> rownames(my.deer) <- c("F", "M")
> names (dimnames(my.deer)) <- c("pol", "godina")
> my.deer
godina

pol 2000. 2001. 2002. 2003. 2004. 2005. 1999.
F 115 85 154 75 78 34 21
M 76 40 197 123 60 35 0



> my.deer.marg <- margin.table(my.deer, 2)

> my.deer.marg

godina

2000. 2001. 2002. 2003. 2004. 2005. 1999.
191 125 351 198 138 69 21

> my.deer.prop <- prop.table(my.deer, 1)
> my.deer.prop
godina
pol 2000. 2001. 2002. 2003. 2004. 2005. 1999.
F 0.20462633 0.15124555 0.27402135 0.13345196 0.13879004 0.06049822 0.03736655
M 0.14312618 0.07532957 0.37099812 0.23163842 0.11299435 0.06591337 0.00000000



« ®yHkumja summary ()

Cnaga y reHepuyke doyHkumje (pyHKUMje Koje pearyjy Ha
objekart, npocrief)eH Kao apryMeHT (PyHKUUje, Ha Ha4YnH KOoju je
OCET/bUB Ha H-ErOBY Krnacy).

To je Hajyewhe kopuwheHa @yHKUKWja 3a uW3OBajake
CyYMapHuUX pes3ynTtata aHanuse TnpoMeHIbnBe, Koju Cy
OCHOBHMU, anun 4OBOJSbLHO AeTalbHM.

> (s.stat <- summary(Deer))

Farm Month Year Sex clasl_4
MO 1278 Min. : 1.000 Min. : 0.000 Min. :1.000 Min. :1.00
BA : 98 1st Qu.: 2.000 1st Qu.: 1.000 1st Qu.:1.000 1st Qu.:3.00
CB : 93 Median : 9.000 Median : 2.000 Median :1.000 Median :3.00
MAN : 76 Mean : 6.838 Mean : 3.959 Mean :1.478 Mean :3.15
QM : 75 3rd Qu.:11.000 3rd Qu.: 3.000 3rd Qu.:2.000 3rd Qu.:4.00
PN 1 45 Max. :12.000 Max . :99.000 Max. :2.000 Max. :4.00
(other):517 NA's :61 NA's :60 NA's :30 NA's :54
LCT KFI Ecervi Tb
Min. : 75.0 Min. . 2.42 Min. : 0.000 Min. :0.000
1st Qu.:151.0 1st Qu.: 14.02 1st Qu.: 0.000 1st Qu.:0.000
Median :163.0 Median : 22.91 Median : 6.495 Median :0.000
Mean :161.5 Mean : 34.80 Mean . 46.232 Mean :0.123
3rd Qu.:174.0 3rd Qu.: 43.17 3rd Qu.: 36.602 3rd Qu.:0.000
Max. :216.0 Max . :294.32 Max. :2186.600 Max . :1.000
NA's :104 NA's 1335 NA's 1318 NA's :288



- [padmykn npukad T1abena (graphical display of
tables)

> rzs.dolasci <- read.table("C:/Users/Lenchy/Desktop/posao_fax/Tu/dolasci.txt", header=T)
> names(rzs.dolasci)

%%% "Godina" "Bgd_d" "Bgd_s" "Vijvd_d" "vjvd_s" '"smd_z_d" "smd_z_s" "JI_d"

IIJ I_S"

> dolasci <- rowSums(rzs.dolasci[, seq(3,9,by=2)])
> names(dolasci) <- rzs.dolasci[, 1]
> dolasci

2010 2011 2012 2013 2014

29180 34503 48113 41919 48763
par(mfrow = c(2, 2), mar = c(3, 3, 2, 1))

>

> pie(dolasci, main = "Obicna pitica")

> pie(dolasci, col = gray(seq(0.4, 0.9, length = 5)), clockwise = TRUE, main = "Nijanse sive')

> pie(dolasci, col = rainbow(5), clockwise = TRUE, main = "Boje duge")

> library(plotrix)

> pie3D(dolasci, labels = names(Cases), explode = 0.1, main = "3D pitica", labelcex = 0.6)
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rzs.nocenja <- read.table("C:/Users/Lenchy/Desktop/posao_fax/Tu/nocenja.txt", header=T)
nocenja <- rowsums(rzs.nocenjal, seq(3,9,by=2)1)

names(nocenja) <- rzs.nocenjal[, 1]

nocenja

2010 2011 2012 2013 2014
72191 84888 132648 113608 122802

VVVYV

> par(mfrow = c(2, 2), mar = c(3, 3, 2, 1))

> barplot(dolasci , main = "Dolasci stranaca u Srbiju")
> br <- cbind(dolasci, nocenja)

> barplot(br)

> barplot(t(br), col = gray(c(0.5, 1)))

> barplot(t(br), beside = TRUE)

Dolasci stranaca u Srbiju
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Y npeseHTaumjn kopuwheHe cy crnegehe base nogataka:



